
© 2022 Hunter Douglas. All rights reserved. All trademarks used herein are the property of Hunter Douglas.

Palm Beach™ Polysatin™ Shutters

PowerView® Gen 3 Automation

Contents
Shutter Panel - Motorized................................................................................................................. 2
Shutter Coupled Panels – Motorized............................................................................................... 4
French Door Cut-Out - Motorized..................................................................................................... 6
Bypass Track System - Motorized..................................................................................................... 8
Motorization Components.............................................................................................................. 10
Additional Parts............................................................................................................................... 12

PowerView® Gen 3 Remote....................................................................................................... 12
PowerView® Gen 3 Gateway..................................................................................................... 12
Power Supply............................................................................................................................. 12
Installation Options.................................................................................................................... 13



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

2

Contents

Revision: 3 May, 2022

Shutter Panel - Motorized

14

2

3

4

6

1

10

11

12

20

21

13

155

16

5

9

7

11

27

26
22

25

23

18

1719

10

24

8

Rear of Panel Shown

PB-PV-SP-1



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

3

Contents

Revision: 3 May, 2022

No	 PCN	 Description
1.	 VS8375-xxxx	 Stile
2.	 VS8491-xxxx	 4" Rail
3.	 Louver
	 VS797-xxxx	 21/2" 
	 VS796-xxxx	 31/2"
	 VS468-xxxx	 41/2"
4.	 Louver End Cap Gear
	 M560-xxx	 21/2" 
	 M561-xxx	 31/2"
	 M562-xxx	 41/2"
5.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
	 M430-xxx	 4.5"
6.	 M6804	 Stile Reinforcement
7.	 M6800	 Stile Reinforcement
8.	 M6825	 Motorized Stile Reinforcement
9.	 M501-xxx	 Stile Cap
10.	 M596-xxx	 Inverted Stile Cap (Used without 

magnets)
11.	 R720	 #8 x 2" Washer Head Screw
12.	 B485F-xxx	 Flex Light Block
13.	 B485-xxx	 Light Block
14.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
15.	 Hinge Leaf
	 S605P-xxx	 Painted - Bright White
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
16.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
17.	 P1000-xxx	 Battery Cover

No.	 PCN	 Description
18.	 7520067000	 Battery Wand, 12V, Preloaded H
19.	 M568M	 Motor Gear Rack Assembly
20.	 M569A	 Shutter Gear Rack Assembly
21.	 VS560-xxx	 Rear Tilt Bar
22.	 1017279	 Motor Assembly
23.	 2008000015	 Button
24.	 P1065	 Spring
25.	 RF20	 Louver Reinforcement

Optional Parts
26.	 Extended Leaf Hinge, 1.25"
	 S603P-xxx	 Painted
	 S603	 Brass Finish
	 S603SS	 Stainless Steel
	 S603BN	 Brushed Nickel Finish
	 S603AB	 Antique Brass Finish
27.	 Wrap Around Hinge
	 S604P-xxx	 Painted
	 S604	 Brass Finish
	 S604SS	 Stainless Steel
	 S604BN	 Brushed Nickel Finish
	 S604AB	 Antique Brass Finish

Not Shown
	 M556-xxxx	 Front Cufflink
	 IV1398-xxxx	 Tilt Bar
	 M498-xxx	 Tilt Bar Cap
	 M590-xxx 	 Stile Cap (Used with magnets)
	 M501A-xxx 	 Adjustable Stile Cap (Used without 

magnets)
	 R650P-136 	 1/2" Hinge Screw

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk

PB-PV-SP-2

Shutter Panel - Motorized



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

4

Contents

Revision: 3 May, 2022

2

5

86
14

1

4

7

9
10

22

13

29

18

30

31

24

17
23

19

253

12

21

26
27

11

15

16

20

28

20

25

19

7 Rear of Panel Shown

PB-PV-CP-1

Shutter Coupled Panels – Motorized



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

5

Contents

Revision: 3 May, 2022

No.	 PCN	 Description
1.	 VS8375-xxxx	 Stile
2.	 VS8491-xxxx	 4" Rail
3.	 Louver
	 VS797-xxxx	 21/2"
	 VS796-xxxx	 31/2"
	 VS468-xxxx	 41/2"
4.	 Louver End Cap Gear
	 M560-xxx	 21/2" 
	 M561-xxx	 31/2"
	 M562-xxx	 41/2"
5.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
	 M430-xxx	 4.5"
6.	 M6800	 Stile Reinforcement
7.	 M6825	 Motorized Stile Reinforcement
8.	 M501-xxx	 Stile Cap
9.	 M596-xxx	 Inverted Stile Cap (Used without 

magnets)
10.	 R720	 #8 x 2" Washer Head Screw
11.	 B485-xxx	 Light Block
12.	 B485F-xxx	 Flex Light Block
13.	 B486-xxxx	 Astragal
14.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
15.	 Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
16.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
17.	 P1000-xxx	 Battery Cover

No.	 PCN	 Description
18.	 7520067000	 Battery Wand, 12V, Preloaded H
19.	 M568M	 Motor Gear Rack Assembly
20.	 M569A	 Shutter Gear Rack Assembly
21.	 VS560-xxxx	 Rear Tilt Bar
22.	 1017279	 Motor Assembly
23.	 2008000015	 Button
24.	 P1065	 Spring
25.	 P1010	 Clutch Assembly
26.	 P1020-xxx	 Coupler Assembly
27.	 P1025-xxx	 Coupler Cover
28.	 RF20	 Louver Reinforcement

Optional Parts
29.	 VS492-xxxx	 Divider Rail
30.	 Extended Leaf Hinge, 1.25"
	 S603P-xxxx	 Painted
	 S603	 Brass Finish
	 S603SS	 Stainless Steel
	 S603BN	 Brushed Nickel Finish
	 S603AB	 Antique Brass Finish
31.	 Wrap Around Hinge
	 S604P-xxxx	 Painted
	 S604	 Brass Finish
	 S604SS	 Stainless Steel
	 S604BN	 Brushed Nickel Finish
	 S604AB	 Antique Brass Finis

Not Shown
	 M556-xxxx	 Front Cufflink
	 IV1398-xxxx	 Tilt Bar
	 M498-xxx	 Tilt Bar Cap
	 M590-xxx 	 Stile Cap (Used with magnets)
	 M501A-xxx 	 Adjustable Stile Cap (Used without 

magnets)
	 R650P-136 	 1/2" Hinge Screw

xxxx or xxxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk

PB-PV-CP-2

Shutter Coupled Panels – Motorized



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

6

Contents

Revision: 3 May, 2022

PB-PV-FD-1

French Door Cut-Out - Motorized

19

21
20

1

1

1

17

14

11

12

12

33

31

25

15

18

18

17

32

4

10

9

3

7

8

6

1

2 

15

5

3

15

17

18

16 28 29

5

4

1

6

6
22

23
24

32

30

13

13

26

Back of Rail

27

25



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

7

Contents

Revision: 3 May, 2022

No.	 PCN	 Description
1.	 N/A	 Frame
2.	 M362	 Frame Corner Key
3.	 VS8375-xxxx	 Stile
4.	 M501-xxx	 Stile Cap
5.	 M596-xxx	 Inverted Stile Cap
6.	 VS8491-xxxx	 4" Rail
7.	 Louver
	 VS797-xxxx	 2.5"
	 VS796-xxxx	 3.5"
	 VS468-xxxx	 4.5"
8.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
	 M430-xxx	 4.5"
9.	 Louver End Cap Gear
	 M560-xxx	 2.5"
	 M561-xxx	 3.5"
	 M562-xxx	 4.5"
10.	 French Door Cut-Out L-Frame Plate
	 M1160-xxx	 With 0 Extensions
	 M1161-xxx	 With 1 Extensions
	 M1162-xxx	 With 2 Extensions
	 M1163-xxx	 With 3 Extensions
	 M1164-xxx	 With 4 Extensions
11.	 M1153-xxx	 French Door Cut-Out Body Lid Set
	 M1150-xxx	 French Door Cut-Out Body
	 M1151-xxx	 French Door Cut-Out Lid
12.	 M1152-xxx	 French Door Cut-Out End Cap
13.	 Magnet Kit
	 KIT4551	 Bright White
	 KIT4553	 White Silk
14.	 M6804	 Stile Reinforcement
15.	 M6800	 Stile Reinforcement
16.	 M6825	 Motorized Stile Reinforcement
17.	 R720	 #8 x 2" Washer Head Screw	
18.	 Light Block
	 B485-xxx	 Solid
	 B485F-xxx	 Flex Light Block
19.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish

No.	 PCN	 Description
20.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
21.	 Hinge Leaf
	 S605P-xxx	 Painted - Bright White
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
22.	 P1000-xxx	 Battery Cover
23.	 7520067000	 Battery Wand 12V Preloaded
24.	 M568M	 Motor Gear Rack Assembly
25.	 M569A	 Shutter Gear Rack Assembly
26.	 VS560-xxx	 Rear Tilt Bar
27.	 1017279	 Motor Assembly
28.	 2008000015	 Button
29.	 P1065	 Spring
30.	 RF20	 Louver Reinforcement

Optional Parts:
31.	 M556-xxxx	 Front Cufflink
32.	 IV1398-xxxx	 Tilt Bar
33.	 M498-xxx	 Tilt Bar Cap

Not Shown
	 VS492-xxxx	 Divider Rail

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk

PB-PV-FD-2

French Door Cut-Out - Motorized



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

8

Contents

Revision: 3 May, 2022

PB-PV-BP-1

Bypass Track System - Motorized

2

2

4

2

9

5

3

5

26

27

19
18

3

5

13

15

17

14

7

24

23

26

1

12

16

10

11

25
20

21
22

Back of Rail

6

8



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

9

Contents

Revision: 3 May, 2022

No.	 PCN	 Description
1.	 N/A	 Motorized Panel Assembly
2.	 VS8542-xxxx	 Bypass Track Frame (BP)
3.	 M630	 Track Support Spacer
4.	 WHT17000	 Bi-Fold/Bypass Track
5.	 R704	 #8 X 1" Pan Head Screw
6.	 Bypass Bracket
	 70-L450-xxx	 Small Bypass Bracket
	 70-I425-xxx	 3/4" Bypass Bracket Extension
	 70-I500-xxx	 11/2" Bypass Bracket Extension
7.	 KIT4527	 #8 x 2" Pan Head Screw Kit (3pk)
8.	 WHT14000	 Hanger Rollers
9.	 DB01BB	 Hanger Plate
10.	 R705	 #6 X 3/4" Round Head Screw
11.	 VS8597-xxxx	 Bypass Standard Valance (BPSV)
12.	 M362	 Corner Key
13.	 MT-07	 Valance Clip
14.	 KIT4579	 R701 #8 x 11/2" Pan Head Screw (12 pk)
15.	 WHT05000	 Hardware Wrench
16.	 VS345-xxxx	 1" Hang Strip (Privacy Strip)
17.	 KIT4564	 BP/BF Friction Brake Kit (2pk)
18.	 P1000-xxx	 Battery Cover
19.	 7520067000	 Battery Wand, 12V, Preloaded H
20.	 1017279	 Motor Assembly
21.	 2008000015	 Button
22.	 P1065	 Spring

Optional Parts
23.	 D142	 Stile Coupler
24.	 VS8598-xxxx	 Decorative Valance (DEC)
25.	 M645-xxx	 Floor Guide (FGBP)
26.	 Bypass Bottom Track (BPB)
	 D1649-xxx	 Bypass Bottom Track Guide
	 D1650-xxx	 Bypass Bottom Track
27.	 Hidden Panel Bypass Guide (UL)
	 D224-xxx	 Front Bypass Guide
	 D225-xxx	 Back Bypass Guide

Not Shown
	 VS8622-xxxx	 Track System Frame Extension

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk

PB-PV-BP-2

Bypass Track System - Motorized



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

10

Contents

Revision: 3 May, 2022

PB-PV-MC-1

Motorization Components

6

7

4

12

2
5

3

8 10

11

9

1



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

11

Contents

Revision: 3 May, 2022

No.	 PCN	 Description
1.	 P1000-xxx	 Battery Cover
2.	 1009401	 FCC Label
3.	 7520067000	 Battery Wand, 12V, Preloaded H
4.	 M568M	 Motor Gear Rack Assembly
5.	 M569A	 Shutter Gear Rack Assembly
6.	 P1065	 Spring
7.	 2008000015	 Button
8.	 P1010	 Clutch Assembly
9.	 1017279	 Motor Assembly
10.	 P1020-xxx	 Coupler Assembly
11.	 P1025-xxx	 Coupler Cover
12.	 M6825	 Motorized Stile Reinforcement

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk

PB-PV-MC-2

Motorization Components



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

12

Contents

Revision: 3 May, 2022

Additional Parts

PowerView® Gen 3 Remote
Note: With PowerView® Gen 3, a remote is not necessary if the customer opts to use the PowerView® App to operate the 
window covering.

PowerView Gen 3 Remote
PCN 1014262 (White)
PCN 1014263 (Black)

PowerView Pebble®

PCN 7602209xxx
PCN 7612077xxx

PowerView Surface
PCN 7612208007 (White Matte)
PCN 7612208013 (Black Matte)
PCN 7612208057 (Nickel Matte)

PowerView® Gen 3 Gateway

PowerView Gen 3 Gateway
PCN 1021001

PowerView Gen 3 Gateway Pro
PCN 1017879

PowerView Gen 3 Gateway Mount
PCN 1022983

Power Supply

12V Battery Wand
Note: Uses 8 AA batteries.
PCN 7520067000 (Preloaded)
PCN 7520069000 (Empty)
KIT2785 (AA Batteries, 8 ea.)



Palm Beach™ Polysatin™ Shutters with PowerView® Gen 3 Automation

13

Contents

Revision: 3 May, 2022

Additional Parts

Installation Options

Extended Leaf Hinge, 1.25" 
PCN S603P-xxx (Painted)
PCN S603 (Brass Finish)
PCN S603SS (Stainless Steel)
PCN S603BN (Brushed Nickel 

Finish)
PCN S603AB (Antique Brass 

Finish)

Wrap Around Hinge
PCN S604P-xxx (Painted)
PCN S604 (Brass Finish)
PCN S604SS (Stainless Steel)
PCN S604BN (Brushed Nickel 

Finish)
PCN S604AB (Antique Brass 

Finish)

Divider Rail
PCN VS492-xxxx

Front Cufflink
PCN M556-xxx

Tilt Bar 
PCN IV1398-xxxx 

Tilt Bar Cap 
PCN M498-xxx 

Decorative Valance (DEC) 
PCN VS8598-xxxx

Floor Guide (FGBP)
PCN M645-xxx

Bypass Bottom Track (BPB) 
D1649-xxx Bypass Bottom 

Track Guide 
D1650-xxx Bypass Bottom 

Track

Hidden Panel Bypass Guide 
(UL) 

D224-xxx Front Bypass Guide 
D225-xxx Back Bypass Guide

Extension Pole
PCN WHPACC

xxx or xxxx = Color Code 

Available Colors 
136 and 5136 Bright White 
137 and 5137 White 
151 and 5151 White Silk


	Shutter Panel - Motorized
	Shutter Coupled Panels – Motorized
	French Door Cut-Out - Motorized
	Bypass Track System - Motorized
	Motorization Components
	Additional Parts
	PowerView® Gen 3 Remote
	PowerView® Gen 3 Gateway
	Power Supply
	Installation Options


